EARAROBEEIERT — 2 N— IBISH —F

20155118230 (A) 7EKIR6H

13%?§¥£C 2—#H 7% —% ‘ (x4 /J\Eﬁ‘ (@l — | & (£) 14000 F&
[AE4£] 1% :130,000 ™ ~ 2#%:26,000H” ~ 33%&:13,000 M . 43 :10,000 M 53 :3,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= 4 3 | BAIEBIEMR 1:30.6 1-1-1-1 | 39.2| — 1 484 | =< ARHEA] (KIR)
1 N 4 *rZ 54.0 (=) (+1) HihELT
R:TITRAFIEN B:vI—TI—2 FRBE%S
P &, L5 g AR :31. -3-2- 5| — BWfE— (kiR)
oWl 6 | ZFTTAYR I 56.0 1341)3 MR R 2 (4:16) KEEH S
LT w TRy b B2 ¥T1UTy b RS
o FE3Z i : -0-3- — =HE&E (KR)
3l5l5| 7T/E2-7% it 5 i 1.(341).9 2-2-3-3 | 40.3 5 <4+224> ,g%:;g%
LHIRG 4 TTR B TFLALy Y — PNCOER R e
- RO . 5-5- - FETF (KR
N - 22 a v 4 3 el 1.(322).2 3-5-5-4 | 40.4 3 (4_580) %%%§ g
R:714—TZXh4 B:d—IKFN=Z— KT 7 — L
IS . 4 3 | =% 1:32.3 M-11-11-11]39.7 | — 6 451 | 1EREHEE (KR)
5078 | XTRLTT1—> 56.0 (3/4) () |BAER
RIZFAT—IE BiF oA RU—L Evdly RT7—L4
- 4 o4 | BRERE 1:32.5 4-3-4-5 |40.7| — 9 455 | FREEFD (KGR)
EE 2| iiratas ’ e (1) | EHER
R:aArFafy b B:YRZILIUTR lstres
. o4 B4 | AHIBE 1:32.5 7-7-7-71 | 40.3| — 11 436 | REEZ (BER)
7\7| 9| VFYTE-H 54.0 (75%) Cp |HHTE
oxA1ZTr—2 B:UXHYLELTT A N Chae]
_ i ] ~6-6- - WEEE (KiR)
slgli1| 7ok vay 4 3 s 1(/73%:) 6-6-6-5 | 40.6 4 &6) gl
Riw>Nya&rhTr BTIIHEH— TI3XTT— L
. R . -9-10- — ERE y
9 7|7V Vw2 by /T 3 | pARe 1.(343).2 9-9-10-7 | 40.7 8 ig? &Eié’”)
L:F15>8) B:dz—-ILvw5> AHHEEE
N 48 | HEEME— 1:33.3 7-8-7-7 |41.1| — 10 | 483 |kt (EER)
10(1]1|F—-374LRX b 56.0 (565 o) | EHEEE
L:TZR7 48— B:vAry1—F b =
; .= i 4 | BERRE 1:33.5 10-10-9-10 | 41.1 | — 7 408 | BAES] (KR)
1118110 '77')7/7_4_ 51.0 (1 1/4) (+1) ?E) K= 7T
LT RIA Y L—> B:E2YIFKEYD HiE
® I —F—@EBIERL
13=7r= 4,5,3,(2,6),11,(1,9),7,10,8
2= = 4,5,(2,6),3,11,9,1,7,10,8
Jol=5r= 4,6,5,2,3,11,(1,9),10,7,8
40—+ — 4,6,5,3,(2,11),(1,7,9),10,8
[ N3
BB 4 250H 714K 4-6 170H % E 4-6 280M 3EHE 4-5-6 720M
8 B 4 110 4-5 420M B & 4-6 280M K31 4-6-5 2,330
6 120/ 5-6 480 B H 4-6 420
5 280M

ABICOVWTRDTEEERROODE. TR LIV,




